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Instituto de Fisica - Facultad de Ingenieria - Universidad de la Republica

T=1000K l T=300K l

{ Qht } Qh2
w1l w2

r\\ => >
¥ Qi ﬁT
T=300K | R T=280K

Copref = Copcarnot = TI/(Th'TI)=14 = QIZ/WZ

Ql2

r]maq = 0.3= Wl/th
ciclo) W.=100kJ entonces Q;=1400 kJ entonces Qn=1500 kJ
W;=200kJ entonces Qn=W1/0.3 entonces Qu=Qni-W:1=0.7*Qn1=466,66 kJ

Calor al ambiente
Qamb = Qu + Qn2 = 1500+466.66 = 1966.66 kJ

Maximo trabajo
Nmag = W'/Qn = (Th-T|)/Th =0.7 entonces W'y = 0.7 Qn = 0.7 W1/0.3 = 466,66 kJ
W'x = W' - W, = 366,66 kJ.



